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12 |[RARE 6 0 5 0 1
13 | EARTIEIES 19 1 17 0 1
14 | B EEEE 23 5 15 1 2
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26 (R B FEERIE 7 0 6 1 0
27 385E )5 | IEIG(FEE 13 1 11 0 1




20205F4 H 26 A Se e ERER (<FRI) ARSI EZE

. EHEE K AEEEN AR | IREtHH et N
- e ENGREEAER &k &k )

28 | 4K K JE A fe 8 0 6 0 2
29 VEP R 48 1 44 0 3
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32 | BN TR THR X 2 0 1 0 1
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34 | BN IR 28 0 20 4 4
35 | BN EEZER 3 0 2 0 1
36 |PEECE 30 5 23 1 1
37 | REE%E 5 1 2 1 1
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39 | BRI R 1 0 0 0 1
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55 |4z 72 10 55 5 2
56 VAEERINE 2 0 0 0 2
57 |FEEE R LB E 33 3 27 0 3
58 [yg=EE 2 0 1 0 1
59 DEEAEHEH A E 6 1 3 1 1
60 [Ers =] =& B E] SR E 14 2 11 0 1
61 B S S 2 0 1 0 1
62 |FEE 3 0 2 0 1
63 |EECE 11 1 9 0 1
64 |(AANERTEHENE 5 1 2 2 0
65 | HABED 4 1 1 0 2
66 |ZEnYsELEE 5 0 3 1 1
67 [mesrEgE 26 1 22 1 2
68 | B HmA M B E S B E R 1 0 0 0 1
69 | N EVHZE S gER 1 0 0 0 1
70 |PR% )5 11 2 8 0 1
71 [t et 57 10 30 14 3
2| TEHEGHE 4 0 1 2 1
73 |7 K = e 2 1 0 0 1
74 g = 88 8 74 2 4
75 |[E%E 2 0 1 0 1
76 [KREHSEEEGUWER 3 0 2 0 1
77 |k 202 18 179 2 3
78 | TERk 2 it fe B2 AR B B R iR 24 3 19 0 2
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